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In order to have interference fit, it is essential that

///////////4 TV | s i il il sttt B
t?\j\; PXT | (o) Creater than the upper Emit of the hole
) )‘L U Lonswi il Shise snnavon Bt - fhin oille
Shaft- Hole (c) Comstor fisam the hower Nindt of the hole

— (d) Lesser than the lower limit of the hole
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Interference fit joints are provided for:
\Cir){ssembhng bush bearing in housing
(bXMounting heavy duty gears on shafts
(cXMounting pulley on shafts
(dXAssernbly of flywheels on shafts
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Consider the following joints:
\/ Railway carriage wheel and axle
\J/IC engine cylinder and liner

Which of the above joints is/are the result(s) of
interference fit?

(a) 10only
(b) 2 only

(c) Neitherinor:z

\}dr)/Bothlandz



+0.02
Zoto S|L= aow.w’ Dimension of the hole 1s 50 0 mm

B —-0.00
: - : W W
gb\q.ﬁ &; vod UL;g\o " and shaft is 50 P mm.
Y0 0wmw 7 LL= &omw +0.00
The mimnimum clearance 1s
Tanziion £it- (a) 0.02 mm (b) 0.00 mm
\ {25 -0.02 mm (d) 0.01 mm

Mine = §0— &0 08 = —o 0dAmy — Mq)(j:
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5-05 0 — 4o 0Cowwm =
Hole LFOOGD @LL q,om,,’Aholensspeaﬁedastlo g.goo mm. The mating

. . 0 O
Minc = o -0lmw . shaft has a clearance fit with minimum clearance of
ce < -~ 0 04w
“oleyance oy ('\ﬁ]a— o.01 mm. The tolerance on the shaft is 0.04 mm. The
Ma\( C :? maximum clearance in mm between the hole and

TToleyance on Hole = 40°0%0- 40 the shaft is
— 0°020MY]) (a) o.04 (b) o.05

\/C()/o.m (d) om



% Maxe = o-ol- +00+00g

T
¥ Maxc = 010 mw W ©-0C0 ///

l ‘ MQ)(C OB
’ M‘IV\C:- 0-0|

&9 :—Q—OM *
) 7 000

\A




USE CODE Y662 to Join ADDA247 Paid Classes and GET Max Discount  [JANa [8 [= (ke I}/

Which one of the following tolerances set on inner

diameter and outer diameter respectively of headed
jig bush for press fit is correct?

(a) G7hé (b) F7n6
(c) H7h 6 (d) F76
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Which one of the following statements is TRUE?

¥ Go P’Va 6]“'”69“: L-L g{'Hofe X) The ‘GO’ gage controls the upper limit of a hole
e 'NO GO’ gage controls the lower limit of a shaft
\,c«)’l{e ‘GO’ gage controls the lower limit of a hole

\,d*)’ﬂ ‘NO GO’ gage controls the upper limit of a hole

X Go Gft? Qauae,r U-LQf‘ ?LﬁF—f b; (’/OQ
1060 G g~ LLof Seft

K NoGo Mg Gage= vt of Hole-
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A feeler gauge 1s used to check the
(a) Pitch of the screw
(b) Surface roughness
\Kr Thickness of clearance
(d) Flatness of a surface

e
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CLA value and RMS values are used for measurement

of
(a) Metal hardness

(b) Sharpness of tool edge
(c) Surface dimensions

\,('dﬁurface roughness
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Surface roughness on a drawing is represented by
\(a) Triangles <7

(b) Circles

(c) Squares

(d) Rectangles



USE CODE Y662 to Join ADDA247 Paid Classes and GET Max Discount  [ANa [8 [= (ke I}/

A sine bar is specified by
(a) Its total length

ﬁ(‘r'pg\jﬂe (b) The size of the rollers
H me centre distance between the two rollers

(d) The distance between rollers and upper surface
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* L= 250‘&%/; A sine bar has a length of 250 mm. Each roller has
v D= Qowm => ¥ 1omi a diameter of 20 mm. During taper angle
measurement of a component, the height from the

)6 & :7 surface plate to the centre of a roller 1s 100 mm.

X M-\x(:_—_, 150w The calculated taper angle (in degrees) is

Ul Gl Ot (Dess
A H= Gomn

%’o\ulio Py e < Hg 1 90
v)o %ghD— L~ Reo

¥ 0= Sw %{)Eo)
X 0=l
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Which one of the following instruments is a
comparator ?

(a) Tool Maker’s Microscope

(b) GO/NO GO gauge

(c) Optical Interferometer

(d) Dial Gauge
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608 What are the upper and lower limits of the shaft
represented by 60 87
Y- BC = boww Use the following data:

Diameter 60 lies in the diameter step of 50-80 mm.

X Tolevance Qf’ - )1TO = . Fundamental tolerance unit,
quﬁ TR=alC2 i, in # m= o.45 D'3 4+ o0.001D, where D is the

N7 04 representative size in mm;
76 'FD Qr ,(‘ = — & <D Tolerance value for IT8 = 25i.
\/(I;x?damental deviation for 'f shaft = -5.5D°#+
L _ ) Lower limit = 59.924 mm, Upper Limit = 59.970 mm
% L Qr W-F 9 (b) Lower limit = 59.954 mm, Upper Limit = 60.000 mm

7\L Ul ¢ o | (c) Lower limit = 59.970 mm, Upper Limit = 60.016 mm
QF AQF+ ? (d) Lower limit = 60.000 mm, Upper Limit = 60.046 mm



SO‘VHM\%—)* 6o Q

— JSoygo = 63 4 6mw

: Vo, ‘T \FD'-'— — 0°030VCImm
¥ 2= 0 98(6394¢) +0-69(6224L) v 7 e
X 4= | B&3Mm = 0 60|83 mm 88= tomw 004444 my

X 1T8=2ac -—’oclO(o 6|86 = O o%ffémq AL

¥ Fr=-gy ':—/(rx(ézéW) ’.% uu[ict,q} bo- ooZOl'C——'ciﬁ 3?0’”"7
X fp= —o OBONTW)) _




USE CODE Y662 to Join ADDA247 Paid Classes and GET Max Discount

A G He

Following data are given for calculating limits of
dimensions and tolerances for a hole: Tolerance unit 1 (in
pm) = 0.45 VD + o.00aD. The unit of D is mm. Diameter
step is 18-30 mm. If the fundamental deviation for H
hole 1s zero and I'T8 = 25 1, the maxaamum and minimum

Iimits of dimension for a 25 mum H_ hole (in mam) are
(a) 24.984, 24.967 )X (b) 25.017, 2)684

\%.033, 25.000 (d) =2s.000, %6‘7



95 M3
¥ 8BS =S ™M
X Tolevance o,FHole;: ITR=¢ 2 T ﬂ'/////////// T ' TR= 0032

D= \/DXDq = V'8 % =3232%mw
BS= i

. \ o
X 9= 045() o M
Y g o4c(a283 ) romn@323 ™Y CIX LU Hle< 8= acunm

| 3 _ SK003247
¥ o= L13074um = | 30F640 77 X ULQFM!&&GMm?

-
~—

%“ﬁ)lemme,a’[’ Hole = [T = w =< )(;'3)26):'3]) s W
= 00336 —_—
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A fit is specified as 25H8/e8. The tolerance value for

a nominal diameter of 25 mm in IT8 is 33 microns
and fundamental deviation for the shaft is - 40

microns. The maximum clearance of the fit in
microns is

(a) -7 (b) 7

(c) 73 (d) 106
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Which of the following is a joint formed by
interference fits?

(qx Joint of cycle axle and its bearing

(% Joint between 1.C. Engine piston and cylinder

(X Joint between a pulley and shaft transmitting power
\}dﬁoim of lathe spindle and its bearing
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@ ¥ D =25mwm = 89 A GO-NOGO plug gauge is to be designed for
measuring a hole of nominal diameter 25 mm with a
X Hole Tolexane = F 0°0Iww pole tolerance of = o.015 mm. Considering 10% of
work tolerance to be the gauge tolerance and no
MQU e Tolevane = o/ Wo wear condition, the dimension (in mum) of the GO

(7 Tolevawe Plug gauge as per the unilateral tolerance system is

+0.003 +0.000

, too
\me &S:;: - (a)24.9857%% (b)25.0157%°
g +0.03 +0.003
(c)24.9857°% \(/d’éi.985'°‘°°°



+ 0015
Solution}— AS vam
¥ ULO{'Hole/: AS 01 < mm
x Lol e = Q4 38T mu

x' Tolevoawnte = 0-030mwW

X G,aua‘e Tolevance = 10 y930 = 6 603

oo

4+ 0- 602

¥ Go Pluyg Gage Oimeh<f07 = Q4 388 ™M

— 0603

X- No-Go Pl Gaye dimens) = Q= o[ imn)
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